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FEE H185 A No.
3 ¥ WMET=HE THmE (MR EREED
4 g E T & (kg)
P &t % kg it

<BJRED

R 20A 27.2 L7 12.0 140  53.0 79.0 79.0 * 1.7 132.7
M 25A 34.0 2.4 25.0  36.0 61.0 61.0 * 2.4 148.2
M 32A 42.7 3.4 1.0 75.0 76.0 76.0 * 3.4 256.9
M 40A 48.6 3.9 1.0 35.0 36.0 36.0 * 3.9 140.4
% 50A 60.5 5.3 8.0 8.0 8.0 5.3 42.5
i 65A 76.3 7.5 57.0 6.0 63.0 63.0 * 7.5 470.6
s 80A 89.1 8.8 20.0 20.0 20.0 * 8.8 176.0
R 20A 27.2 1.7 4.0 4.0 4.0 % 1.7 6.7
Pk - mAHERE 50 ¢ 56.00 5.700[ 61.0 61.0 61.0 * 5.7 347.7
Pk -mEAE 156 84.00 12.700[  98.0 98.0 98.0 * 12.7 1,244.6
-85 20A 2.0 2.0 2.0 * 0.6 1.2
in=IErs 65A 8.0 8.0 8.0 16.0 128.0
Al LT 20A 1.0 1.0 1.0 * 0.6 0.6
PEREVEZRHFV 25A 22.0 22.0 22.0 * 3.0 66.0
KfE#R AV 25A 50.0 50.0 50.0 * 3.0 150.0
IMEZRFFV 13A 59.0 59.0 59.0 * 1.0 59.0
I R AR 20-F4 10.0 10.0 10.0 0.7 7.0
LAFEY 700+300x900+200 2.0 2.0 2.0 * 5.0 10.0
/MEZRFHFEY 600x440x850 1.0 1.0 1.0 * 10.0 10.0
SLKAR 13-F1 20.0 20.0 20.0 * 0.5 10.0
T MBI KAR 13A 20.0 20.0 20.0 * 0.5 10.0
GKIR G 7KAR 13A 1.0 1.0 1.0 * 2.0 2.0
PRATKAR 13A 1.0 1.0 1.0 * 2.0 2.0
XU —kie 13A 2.0 2.0 2.0 * 2.0 4.0
T3 fek—bk ke 13A 88.0 88.0 88.0 * 0.5 44.0
IR _Edbrn COA 100 1.0 1.0 1.0 * 0.5 0.5
K ERBRO COB 65 4.0 4.0 4.0 * 3.5 14.0
IR _Edbrn COB 80 6.0 6.0 6.0 * 3.8 22.8
IR _Edbrn COB 100 12.0 12.0 12.0 * 4.5 54.0
REEAK A T5A 50 4.0 4.0 4.0 % 3.1 12.3
R T5B 50 12.0 12.0 12.0 * 5.7 68.4
BRIEAL 3L 1.0 1.0 1.0 * 3.0 3.0
HAKG G 165 1.0 1.0 1.0 * 15.0 15.0
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MHE FISE MK No.
S M= TH THME () ARy
E E T i (kg)
% HS % kg 7t
RIS 300 300 X 200 21.0 21.0 21.0 * 5.0 105.0
Gt 3,765.1 kg — t 3.8
<PETTAF v I¥E>
HWikE =% 20A 26.0 0.3 4.0 4.0 4.0 * 0.3 1.2
A bE =% 40A 48.0 0.8 27.0 27.0 54.0 54.0 * 0.8 42.7
HibE =L 50A 60.0 1.1 29.0 1.0 25.0 55.0 55.0 * 1.1 61.7
HikE =% 65A 76.0 15| 16.0 25.0 1.0 4.0 46.0 46.0 * 1.5 66.7
HbE =% T5A 89.0 2.2 1.0 35.0 36.0 36.0 * 2.2 79.2
H b =14 100A 114.0 3.4 4.0 170.0 74.0 74.0 * 3.4 252.3
B =% 20A 26.0 0.3 38.0 38.0 38.0 * 0.3 11.8
AL =14 100A 114.0 3.4)  23.0 23.0 23.0 * 3.4 78.4
&t 594.0/kg — t 0.6
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A 185 AR No.
E # BETLE THME ()RR
4 I T & (kg)
% Bl kg Bl

<HIAB(GW)>

(BRIEDF KRS 20A 27.2 20.0ff 14.0 % 0.0272%3.14%0.02 0.0 0.0 * 25.0 0.6
(RIS 25A 34.0 200 25.0 % 0.034%3.14%0.02 0.1 0.1 % 25.0 1.3
(RIS 32A 42.7 200 1.0% 0.0427%3.14%0.02 0.0 0.0 * 25.0 0.1
(BRIEDF KRS 40A 48.6 20.0|| 1.0 * 0.0486%3.14%0.02 0.0 0.0 * 25.0 0.1
(RIS 65A 76.3 200 57.0 % 0.0763%3.14%0.02 0.3 0.3 * 25.0 6.8
(R 80A 89.1 200 20.0 % 0.0891%3.14%0.02 0.1 0.1 % 25.0 2.8
(BRIEDFEAKE 20A 27.2 20.0|| 53.0 * 0.0272%3.14%0.02 0.1 0.1 * 25.0 2.3
(PRIBFEZKAE 25A 34.0 20.0|| 36.0 * 0.034%3.14%0.02 0.1 0.1 * 25.0 1.9
(PRIBFEKAE 32A 42.7 20.0|| 75.0 * 0.0427%3.14%0.02 0.2 0.2 * 25.0 5.0
(PRIEDFE KRS 40A 48.6 20.0|| 35.0 * 0.0486%3.14%0.02 0.1 0.1 * 25.0 2.7
(IR AE 50A 60.5 200 8.0% 0.0605+3.14%0.02 0.0 0.0 * 25.0 0.8
(BRIFGKE 65A 76.3 200 6.0 % 0.0763%3.14%0.02 0.0 0.0 * 25.0 0.7
(BRI PEKAE 65A 76.3 200 16.0 % 0.0763%3.14%0.02 0.1 0.1 * 25.0 1.9
(RIDHEARE 75A 89.1 200 1.0% 0.0891%3.14%0.02 0.0 0.0 * 25.0 0.1
(FRIEDHEAKE 100A 114.3 25.0|| 4.0 * 0.1143%3.14%0.025 0.0 0.0 * 25.0 0.9
(FRIRPEARE 40A 48.6 200 27.0 % 0.0486%3.14%0.02 0.1 0.1 * 25.0 2.1
(RIRPEAE 50A 60.5 200 29.0 % 0.0605+3.14+0.02 0.1 0.1 % 25.0 2.8
(BRI PEKAE 65A 76.3 200 25.0 % 0.0763%3.14%0.02 0.1 0.1 * 25.0 3.0
(BRI PIKAE T5A 89.1 200 35.0 % 0.0891%3.14%0.02 0.2 0.2 * 25.0 4.9
(PRIEDHEAKE 100A 114.3 25.0|| 70.0 * 0.1143%3.14%0.025 0.6 0.6 * 25.0 15.7
(RIRPEAE 50A 60.5 200 61.0 % 0.0605+3.14%0.02 0.2 0.2 * 25.0 5.8
(RIDHEARE 75A 89.1 200 74.0 % 0.0891%3.14%0.02 0.4 0.4 * 25.0 10.4
(PRIBRGW)FET: 20A 27.2 20.0ff 38.0 * 0.0272%3.14%0.02 0.1 0.1 * 25.0 1.6
7 TR — VARTRAR 25.0 mm 4.0 * 0.025 0.1 0.1 * 25.0 2.5

&t 76.8 kg — t 0.1
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No.

E #* BETLE THEEE (MR EEEED
4 g E T & (kg)
% i % kg it
AT RS- Ba it
{bpESE 363%455%5 95.0 95.0 95.0 * 1.0 95.0
PEEE A Cl4 22.0 22.0 22.0 * 10.3 226.6
PN EES C375 50.0 50.0 50.0 * 12.5 625.0
ANEES U307 59.0 59.0 59.0 * 36.0 2,124.0
R HEL SK22A 10.0 10.0 10.0 * 28.0 280.0
FEIHR A100 57.0 57.0 57.0 * 14.3 815.1
Ve s L230D 20.0 20.0 20.0 * 15.0 300.0
&t 4,465.7 kg — t 4.5
<2 y)—-MED>
ariE (¢ XL) 100.0 200.0, 1.0 0.2:%0.1x0.1%3.14/4= 0.0016| 0.00157| 0.00157 * 2,400.0 3.8
avhix (¢ XL) 75.0 200.0|| 73.0 0.2:0.075%0.075%3.14/4= 0.0009 0.06447,  0.06447 2,400.0 154.7
a7#E (¢ XL) 100.0 200.0[  20.0 0.2%0.1%0.1%3.14/4= 0.0016) 0.03140,  0.03140 * 2,400.0 75.4
HZIEDD (WXH) 75.0 75.0 4.0 0.075%0.075= 0.0056 0.02250  0.02250 2,400.0 54.0
&t 287.9kg — t 0.3
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= by DAL A:BSik n: BN Vo RAMNEH < B Vv BAMIH
)M‘ 7H’ n}% %(ﬁa '_Eé:) E&{%I% iy RN N N AT AN AN atay )= ” a

X 1 2 55 % B % A AR | IR T X5y % & B

2 #a/K B4
m09

WEEE =V 8E(VB) | BAMEZE 20[vm 3.5 3.5 3.5 1.0 1.0 3.5 16.0

E3 2.0 2.0 4.0

BN 20|14 3.5 3.5

o 3.0 3.4 0.7 0.6 2.5 2.5 2.5 2.0 2.0 19.2

40|14 2.4 2.4 4.8

50(4 2.4 2.4 4.8

65| 3.4 3.4

WERE A=V ENVD)  |BN—i% 65|~ 1.3 0.4 0.5 2.2

WAL = V& (HIVP) Hi A 20(V~ 0.9 0.3 0.3 2.4 2.4 0.5 0.8 0.8 0.4 0.4 9.2

hva 0.6 0.6 0.6 0.6 0.6 0.6 3.6

f1-E7p (0.49MPa) 20 1.0 1.0

[ESe VLIS 75 ¢ X200L 1.0 1.0 1.0 1.0 1.0 1.0 6.0
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*j‘ */I’ g}% %(@E ,/ra.é;) E&{%I% LB f:FEfe v BANEH I BAEN v BNERR Vv BMERE

iy RN N AT AN AN 33y -

X 1 2 55 % B Y 0T FAR | REME T K5y e & B

2 #a/K B4
ml10

WEEE =V 8E(VB) | BAMEZE 20(Yyu R 2.2 5.0 7.2

BN 20(4 7.3 0.3 0.3 0.8 8.6 1.8 0.2 3.9 1.8 1.8 19.1 45.9

o 1.2 8.0 9.2

40|14 1.5 1.5 3.0

50(4 2.4 1.5 1.5 1.9 1.9 9.2

65|41 1.7 216 2.4 25.7

f1-E7p (0.49MPa) 20 1.0 1.0 2.0

" TF FJ(W) 20A X 300L, 1.0 2.0 3.0

IR L BN 32|41 1.0 1.0
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eI A(ED

e LE

ULEI] (k& o BNEEH JeBAMEH v BPVIERR v BAMERR

By NN N AT AN AN 3iav)-bN
X 1 2 55 E % A AR | IR T X5y % is B
2 KE7KEAR

mll
WEEE A=V EVB)  |BN—i% 50(4 1.2 1.2 1.5 3.9
65(4 1.9 1.9 1.5 5.3

2 KE7K AR

ml2
WEEE A=V EVB)  |BN—i% 65|41 0.9 0.8 1.7
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N pts DAL A:BSik n: BN Vo RAMNEH < B Vv BAMIH

*j‘ *’I’ P}%ﬂ % (ﬁa B ) E&{%Ig [ =Y N7 IV A TN 37 i 5= V24 BN | " =
X &5 % B Y 0T FAR | REME T K5y e & B

2 #a/K B4
ml3
WEEE =V 8E(VB) | BAMEZE 20[vm 1.0 1.0 2.0
BN 20(4 1.1 1.4 1.3 0.2 1.3 0.1 0.3 1.2 0.3 0.3 0.4 1.3 1.3 1.5 5.2 21.7
2.0 2.5
o 0.6 0.7 0.4 0.4 2.0 1.5 2.0 2.0 9.6
25(4 0.3 1.1 0.2 0.8 1.0 0.2 4.8 8.4
o 2.0 2.0
324 1.5 0.3 0.2 1.2 1.2 1.3 5.7
40(4 0.3 0.2 0.5 0.6 0.3 0.8 0.9 1.5 1.5 6.6
ST - A o 20(4 0.4 2.5 0.4 0.3 0.6 0.2 0.4 0.4 1.2 0.3 1.6 1.6 2.3 0.3 17| 228
4.6 0.8 1.7 0.3 0.3 0.3 0.3 0.3

n 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 20.0
25(4 0.3 1.2 0.9 2.3 0.4 3.2 8.3
2§ 2.5 2.5
324 1.8 1.8
HEHALE =VE (HIVP) Hi A 20(/= 0.2 0.1 0.1 0.3 0.2 0.8 1.7
hva 0.6 0.6 0.6 1.8
f-E7p (0.49MPa) 40 1.0 1.0 2.0
IR L BN 20(m 1.0 1.0
[ESe VLIS 100 ¢ X 200L 1.0 1.0
75 ¢ X 200L 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 8.0
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NN : : =4 Vpt &% . EISER i
B 98 8 (R ) el T UL L

X 1 2 55 % B Y 0T FAR | REME T K5y % & B

2 #a/K B4
ml4

WEEE A=V EVB)  |BN—i% 20(4 1.6 0.2 1.7 0.2 1.3 1.3 6.3

o 0.5 0.5 1.0 1.0 3.0

25(4 2.5 2.2 0.8 2.5 0.4 8.4

324 0.7 0.7

40|14 0.6 0.3 1.4 0.7 0.2 1.1 2.0 6.3

50(4 0.3 0.3 0.2 2.0 2.8

ST - A =R 20(4 0.8 0.1 0.8 0.7 0.8 1.0 0.1 1.7 0.8 0.6 2.4 0.7 2.6 0.1 0.8 20.3

0.5 0.5 0.5 1.4 0.5 0.5 0.5 1.4 0.5

25(4 1.0 1.3 1.5 1.5 5.3

324 2.6 2.6

40(4 1.2 1.2

f1-E7p (0.49MPa) 40 1.0 1.0

50 1.0 1.0

[ESe VLIS 75 ¢ X 200L 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 11.0
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N pts DAL A:BSik n: BN Vo RAMNEH < B Vv BAMIH

*j‘ *’I’ P}%ﬂ % (ﬁa B ) E&{%Ig [ =Y N7 IV A TN 37 i 5= V24 BN | " =
X &5 % B Y 0T FAR | REME T K5y e & B

2 #a/K B4
mlb
WEEE =V 8E(VB) | BAMEZE 20[vm 0.4 0.6 1.0
BN 20(4 2.0 2.0 1.4 1.9 1.2 1.2 1.4 1.4 0.9 1.4 0.3 0.3 0.9 1.2 15| 19.0
o 0.6 0.6 0.6 0.6 2.0 2.0 2.0 1.5 2.0 1.5 1.5 14.9
25(4 1.2 1.2 1.0 1.0 2.7 2.7 9.8
324 1.5 1.7 0.2 0.2 0.8 0.8 0.1 0.1 0.3 0.3 1.2 0.6 0.6 1.2 9.6
40(4 0.3 0.3 0.2 0.2 1.5 1.5 4.0
ST - A =R 20(4 2.6 2.6 0.9 1.6 1.6 0.2 0.6 0.6 0.3 0.3 0.3 0.3 0.3 0.3 0.3 13.1
0.3
o 3.2 2.0 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 2.5 40.2
2.5

25(4 0.1 0.1 0.9 0.9 0.1 0.1 0.9 0.9 4.0
324 0.1 0.1 1.4 1.2 2.4 2.4 7.6
f1-E7p (0.49MPa) 50 1.0 1.0 2.0
I L T - Bt == 25|u 1.0 1.0
[ESe VLIS 75 ¢ X 200L 1.0 1.0 1.0 1.0 1.0 1.0 1.0 7.0
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N pts DAL A:BSik n: BN Vo RAMNEH < B Vv BAMIH
*j‘ *’I’ P}%ﬂ % (ﬁa B ) E&{%Ig [ =Y N7 IV A TN 37 i 5= V24 BN | " =
X &5 % B Y 0T FAR | REME T K5y e & B
2 #a/K B4
m16(2F)
WEEE A=V EVB)  |BN—i% 20(4 1.7 1.7 0.2 0.2 1.3 1.3 6.4
25(4 0.1 0.1 2.4 2.7 0.8 0.9 0.2 1.0 0.2 8.4
40|14 1.8 1.8 0.9 0.9 5.4
50(4 0.2 0.2 0.2 2.0 2.6
65|41 2.8 1.2 1.0 0.2 0.2 0.2 2.0 7.6
BRI - B = 20|14 0.6 0.4 1.1 0.8 0.3 0.5 0.5 0.8 0.1 0.8 0.7 0.7 0.8 0.4 0.6 44.8
0.8 1.0 1.0 0.8 1.8 0.1 0.4 2.3 0.6 0.8 0.1 0.2 0.8 1.7 0.8
2.2 2.2 0.7 0.7 1.7 0.8 0.8 0.8 0.5 0.5 0.5 0.5 1.4 0.5 0.5
0.5 1.4 0.5 0.5 0.5 0.5 0.5 0.5 1.4 1.4 0.5
25(4 0.7 0.7 0.7 0.7 1.2 1.7 5.7
324 0.5 0.5 0.3 0.3 2.5 2.5 6.6
40|14 0.8 0.8 1.6
NETTAFR 65 1.0 1.0
f1-E7p (0.49MPa) 50 1.0 1.0
[ESe VLIS 75 ¢ X 200L 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 20.0
1.0 1.0 1.0 1.0 1.0
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N pts DAL A:BSik n: BN Vo RAMNEH < B Vv BAMIH
*j‘ *’I’ P}%ﬂ % (ﬁa B ) E&{%Ig [ =Y N7 IV A TN 37 i 5= V24 BN | " =
X &5 % B Y 0T FAR | REME T K5y e & B
2 #a/K B4
m16(3F)
WEEE A=V EVB)  |BN—i% 20(4 0.1 0.1 1.7 1.7 0.2 0.2 1.3 1.3 6.6
25(4 2.4 2.7 0.8 0.9 0.2 1.0 1.0 0.2 9.2
40|14 1.8 1.8 0.9 0.9 5.4
50(4 0.2 0.2 0.2 0.2 0.2 0.2 2.0 2.0 5.2
BT - B = 20|14 0.6 0.4 1.1 0.8 0.3 0.5 0.5 0.8 0.1 0.8 0.7 0.7 0.8 0.4 0.6 44.8
0.8 1.0 1.0 0.8 1.8 0.1 0.4 2.3 0.6 0.8 0.1 0.2 0.8 1.7 0.8
2.2 2.2 0.7 0.7 1.7 0.8 0.8 0.8 0.5 0.5 0.5 0.5 1.4 0.5 0.5
0.5 1.4 0.5 0.5 0.5 0.5 0.5 0.5 1.4 1.4 0.5
25(4 0.7 0.7 0.7 0.7 1.2 1.7 5.7
324 0.5 0.5 0.3 0.3 2.5 2.5 6.6
40|14 0.8 0.8 1.6
-7 (0.49MPa) 50 1.0 1.0 2.0
[ESe VLIS 75 ¢ X 200L 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 20.0
1.0 1.0 1.0 1.0 1.0
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unl = Ve ULBI] kS v BNEEN Ue BAMEH v BN v BAMER
)M‘ 7H’ n}% %(ﬁa '_Eé:) E&{%I% iy RN N N AT AN AN atay )= ” a
X &5 % B Y 0T PAX | PREME T X5 e &= 7t
3 Sk ER
ml3
R = VE (VP) BN 50(4 0.2 0.5 0.7
< 0.7 1.0 1.7
BT - B = 4014 0.3 0.5 0.2 0.4 0.4 1.8
50(4 0.1 0.3 0.2 0.1 0.4 0.2 0.1 0.5 0.2 0.8 0.2 0.2 0.2 3.5
65|% 0.2 0.2 1.2 1.6
80|< 0.1 0.3 0.2 0.4 0.2 0.1 0.2 0.3 0.5 0.5 0.4 0.1 0.2 0.2 0.4 132
0.1 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
B8 oyl U LGB E ) BN 50(< 1.0 1.0
W3- 75X 75 0.4 0.4 0.4 1.2
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NN : : =4 Vpt &% . EISER i
B 98 8 (R ) el T UL L

X 1 2 55 % B Y 0T FAR | REME T K5y e & B

3 Sk ER
ml4

ik — R4 (VP) BN 50]4 0.4 1.3 1.7

BT - B = 50]4 0.5 0.5 0.5 0.5 0.5 1.2 1.2 1.2 1.2 1.2 8.5

80|41 0.5 0.9 0.9 0.5 0.9 0.5 0.9 1.0 1.0 1.0 1.0 1.0 1.0 1.0 12.1

100(4 5.4 5.4 5.4 1.0 1.0 1.0 19.2

WEH AL =VE(VP)GRZD [T - B = 40|14 0.3 0.5 0.8

50(4 0.3 0.4 0.4 0.3 0.5 0.5 0.5 2.9

R EfBRO COA 100 1.0 1.0 1.0 3.0

[ESe VLIS 100 ¢ X 200L 1.0 1.0 1.0 1.0 4.0
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NN Parin LB A:BEik nBAEEL JeBAME v BN v AN
)M‘ 7H’ n}% %(ﬁa E) E&{%I% E ey RN A N AT N AN a3y -t = =
X 5 E % Bt PARX | PRI T X5y % s Bl
3 Bk i
ml5
EHALE =VE(VP) BT - B = 50(4 0.2 0.2 0.1 0.3 0.3 0.1 0.3 0.1 0.2 0.2 0.3 0.3 0.3 0.2 0.2 5.8
0.1 0.2 0.2 0.1 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2
80|~ 0.2 0.1 0.2 0.2 0.1 0.1 0.2 0.1 0.2 0.2 0.1 0.2 0.1 0.2 0.2 19.8
0.1 0.2 0.2 0.1 0.2 0.1 0.1 0.2 0.2 0.3 0.1 0.2 0.2 0.2 0.3
0.1 0.2 0.2 0.2 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
1.0 1.0 1.0
fiiEeel)) 75X 75 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 3.2
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a2 fots DAL A:BSik n: BN Vo RAMNEH < B Vv BAMIH
*j‘ *’I’ P}%ﬂ % (ﬁa B ) E&{%Ig [ =Y N7 IV A TN 37 i 5= V24 BN | " =
X &5 % B Y 0T FAR | REME T K5y e & 7t
3 Sk ER
m16(2F)
ik — R4 (VP) BN 50]4 0.5 0.5 1.3 1.3 3.6
BT - B = 50]4 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 1.2 1.2 1.2 1.2 1.2 1.2 1.2 13.6
1.2
80[4 0.6 0.6 0.8 0.8 0.6 0.6 0.8 0.8 0.8 0.8 0.6 0.6 0.8 0.8 45| 35.0
4.5 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
1.0 1.0
100(4 4.5 4.5 4.5 4.5 1.0 1.0 1.0 1.0 22.0
WEHALE =VE(VP)GRED [T - B = 50(4 0.3 0.5 0.2 0.4 0.1 0.2 0.2 0.3 0.3 0.4 0.4 0.5 0.4 0.4 05| 7.6
0.5 0.5 0.5 0.5 0.5
R EfBRO COA 80 1.0 1.0 2.0
100 1.0 1.0 1.0 1.0 4.0
[ESe VLIS 100 ¢ X 200L 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 8.0
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a2 fots DAL A:BSik n: BN Vo RAMNEH < B Vv BAMIH
*j‘ *’I’ P}%ﬂ % (ﬁa B ) E&{%Ig [ =Y N7 IV A TN 37 i 5= V24 BN | " =
X &5 % B Y 0T FAR | REME T K5y e & 7t
3 Sk ER
m16(3F)
ik — R4 (VP) BN 50]4 0.5 0.5 1.3 1.3 3.6
BT - B = 50]4 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 1.2 1.2 1.2 1.2 1.2 1.2 1.2 13.6
1.2
80[4 0.6 0.6 0.8 0.8 0.6 0.6 0.8 0.8 0.8 0.8 0.6 0.6 0.8 0.8 45| 35.0
4.5 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0
1.0 1.0
100(4 4.5 4.5 4.5 4.5 1.0 1.0 1.0 1.0 22.0
WEHALE =VE(VP)GRED [T - B = 50(4 0.3 0.5 0.2 0.4 0.1 0.2 0.2 0.3 0.3 0.4 0.4 0.5 0.4 0.4 05| 7.6
0.5 0.5 0.5 0.5 0.5
R EfBRO COA 80 1.0 1.0 2.0
100 1.0 1.0 1.0 1.0 4.0
[ESe VLIS 100 ¢ X 200L 1.0 1.0 1.0 1.0 1.0 1.0 1.0 1.0 8.0
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V= Yiran DAL A:BSik n: BN Vo RAMNEH < B Vv BAMIH
)M‘ 7H’ n}% % (ﬁa B ) E&{%I% iy RN N N AT AN AN atay )= ” a
X 1 2 55 E % A AR | IR T X5y % is B
4 1B EAE
ml3
ERIRAKEE WHE-1 <FREUS 1.0 1.0 2.0
WHE-2 1.0 1.0
—WRELAE T AT A BN 20([u 0.6 1.1 1.0 1.0 3.7
4 1B EAE
ml4
ERIRAKEE WHE-1 <FREUS 1.0 1.0 2.0
—WRELAE AT A BN 20([u 1.1 1.1 1.0 1.0 4.2
4 1B EAE
mlb
ERIRAKEE WHE-1 <FREUS 1.0 1.0 1.0 1.0 4.0
—WRELAE AT A BN 20([u 0.6 0.6 1.0 1.0 1.0 1.0 1.0 1.0 7.2
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eI A(ED

e LE

DAL A:BSik n: BN Vo RAMNEH < B Vv BAMIH
By NN N AT AN AN 3iav)-bN
X 1 2 55 E % A AR | IR T X5y % & B
4 1B EAE
m16(2F)
ERIRAKEE WHE-1 <FEUS 1.0 1.0 1.0 1.0 4.0
—WRELAE T AT A BN 20([u 0.6 0.6 1.1 1.2 1.0 1.0 1.0 1.0 7.5
4 1B EAE
m16(3F)
ERIRAKEE WHE-1 <EEUS 1.0 1.0 1.0 1.0 4.0
—WRELAE T AT A BN 20([u 0.6 0.6 1.1 1.2 1.0 1.0 1.0 1.0 7.5
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NN EE [ LB 1:B3fk n: BN e BAEH < BAHEEE ) BASIE
*j‘ *’I’ P}% %(ﬁa ,_Eé;) E‘&{%Ig LRy RN N AT AN AN atav )= ” =
X &5 % B Y 0T FAR | REME T K5y e & B
9 BRARME
m21
RAHIA S FV-2 1.0 1.0
FV-4 2.0 2.0
FV-5 2.0 2.0 4.0
FV-7 2.0 2.0
AINATVEINEA) 150(4 0.3 0.3 0.3 0.3 0.6 0.3 0.3 4.4 0.3 0.3 7.4
£3 0.5 0.5 0.5 0.5 0.7 0.7 0.7 0.7 0.7 5.5
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L = pax: LB A:BEik nBAEEL JeBAME v BN v AN
*j‘ *’I’ P}% %(ﬁa ,_Eé;) E‘&{%Ig E ey RN A N AT N AN a3y -t = =
X 2 75 E % B AR | B TR 5y % s Bl
9 MR FRIE
m22
RAFIAMR T FV-3 2.0 2.0
FV-5 2.0 2.0 4.0
FV-7 2.0 2.0
AINATVEINEA) 15014 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 2.4
£3 0.5 0.5 0.5 0.5 0.6 0.6 0.6 0.6 4.4
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unl = Ve ULBI] kS v BNEEN Ue BAMEH v BN v BAMER
7M‘ 7H’ n}% %(ﬁa 'Eé:) Eﬁl{%:ﬁ% iy RN N N AT AN AN atay )= a =
X &5 % B Y 0T FAR | REME T K5y e &= 7t
9 BRARME
m23
RAHIA S FV-5 2.0 2.0 4.0
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